
 

                                                “Please log in to www.letsshareknowledge.com for more worksheets" 
 

                                       

 

 

1. Jimmy wants to buy a computer and a printer for his office. 

A computer costs $175 and a printer costs $99. How much 

money does he need to buy both the things? 

 

 

2. Joy has 2 five dollar bills and 1 ten dollar bill whereas Roy 

has 3 five dollar bills. Which of them has more money? 

 

 

3. Tina bought a coat for $233 and a pair of snow boats for 

$69. How much money did she spend in total? 

 

 

4. Billy has 4 five dollar bills. Does she have enough money to 

buy a pizza which costs $36? 

 

 

5. Zoe wants to buy a brownie for him which costs $5.25. He 

only has 1 five dollar bill. How much more money does he need 

to buy that brownie?  

 

Solve the following money word problems. 
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1) $274 

2) Joy has more money as he has $20(2x5 + 10 = 20) and Roy has $15(3x5=15) 

3) $302 

4) No, because she has only $20 and a pizza costs $36. 

5) he only needs a quarter coin($0.25 or ¢25). 

 

 

 

ANSWERS 


